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4.4 Solving Systems of Three Variables

1. Check the solutions provided to show if the solution is correct or if it is false. Use work to show it is a
solution, and use some work with written explanation when the solution is NOT true. ’
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Il. Determine which of the two solutions, both, or none are the actual solution(s) to the system of

equations,
q—r-5y+7=l7 £S

3. ~5x~S5y+5z=5
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O -(4)- b(q\+6®
| +20 -4 =17

®) -5 - q/w)w(u} =
S 20 30D FEY

(3= D) +s(-WD- 3(%0:'\’/0

=2 =20 41)="+- O

NO
(-1I '4; '4) ; (11 41 4)

O-()- S(L%\Jr ‘4

-1 =20 4 Y4

, dx+dyez=24 (4\/2‘(5) " 1)
" 2x—-4y+2z=0 z

5x-4y-5z=12 g
@4@+4®+o b

@2@-4(2) T

BGsW-4> - ?(o) 12
26 -~ R ~ Dt

\/\/\/\/\Iz

D) B 2

Yo HL=ah K




Ill. Review and Preview

Translating. Show all work. Box your final answer.

5. The sum of two numbers is 45 and one number is twice the other. Find the numbers.
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6. The difference oﬁwo numbers is 5. Twice the sma\?er number added to five times the Iarger number

is 53. Find the numbers. X+Sy=53 v, ’7_§ 5 - g)
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11. What would a graph look like for a system of linear equations in three variables if the solution was...

a) one solution?
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b) no solution?
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c) infinitely many solutions?
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